H & 0l & AHS B Ml A

A E22e|t
B c2eju
&l: A FHHI (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CEae 23,118,489 19,836,565 3,281,924
= 1,820,000
== 1,212,144
Al 20,086,345
C2EFNH 11,548,860 10,293,670 1,255,190
= 1,820,000
< 1,172,144
Al 8,556,716
Al EHl 7,164,087 5,736,330 1,427,757
= 1,820,000
== 1,172,144
Al 4,171,943
AMUEZ RAE+ X IYL) 701,764 701,764 0
401 AIEHIZ R HYI 701,764 701,764
01 Al&H| 700,000 700,000
OAMUEZ |2 & TN
700,000,000& x14] 700,000
03 A2 THYI 1,764 1,764 0
OAI4 2THYI 1,764,0002 14| 1,764
22w Mots 3,640,000 3,160,000 480,000
[ 1,820,000
= 910,000
Al 910,000
401 AIEHIX SO 3,640,000 3,160,000 480,000
= 1,820,000
& 910,000
Al 910,000
01 Al&H| 3,140,000 2,655,000 485,000
O221 I+ (L=539m, B=13.9m)
3,140,000,000& * 14 3,140,000
= 1,570,000
< 785,000
Al 785,000
02 Zeltl 500,000 500,000 0
Ozl 500,000,000 » 14 500,000
= 250,000
< 125,000
Al 125,000
=%u e e 2 87,675 0 87,675
101 @124H| 27,675 27,675
04 JIZtNZ22 NS+ 27,675 27,675
OS2 (SME A &) 27,675
>llEs 2,386, 7802 *(20/40)x2H « 102 23,868




A E22e|t
M CRENM
&l: A FHHI (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
D> oAXtg 11,4203 5N | 2H+2 B +0E 1,028
>=EUHASRES 24,895,6002 *4. 5% 1,121
PALEE=E 24,895,600 *3.545% 883
PEIVNQALEEZ 882,550 *12.81% 114
PUBIEE 24,895,60021%1.75% 436
DAES = 24,895,6002 +0. 9% 225
405 KHoHF S| 60,000 60,000
01 ML ESFSHI 60,000 60,000
Oolss 53| 60,000,000 *14] 60,000
Sl SEHAAE W 100,360 100,360
401 AIEHIZ SR OHYI 100,360 100,360
01 Al&HI 100,000 100,000
OO SHANE N
100,000,000 * 14| 100,000
03 Al 2 CHHI 360 360 0
OAIE20HbI 360,000 *14] 360
Al =22 =205 e 1,500,000 30,000 1,470,000
401 AIEHIX 20 1,500,000 30,000 1,470,000
01 AlZ2H| 1,500,000 30,000 1,470,000
O&XIt &2 &2 JIsIHA(L=260m)
1,500,000,000& *14] 1,500,000
SHEZZ(AF2063) 2T AR 280,000 0 280,000
< 140,000
Al 140,000
401 Al HIZL 2018 280,000 0 280,000
= 140,000
Al 140,000
01 Al&H| 280,000 0 280,000
Os0EZ2(AX265) 2= &XI(L=410, B=1.5m
) 280,000,000 x 14 280,000
=S 140,000
Al 140,000
Gl (S1EX o) AdF 80,000 0 80,000
< 40,000
Al 40,000
401 Al HIZL 01| 80,000 0 80,000
= 40,000
Al 40,000
01 Al&H| 80,000 0 80,000
Otll=2t2 (212X 21F) 2l FHI(L=160m,
B=2m) 80,000,000 * 14 80,000
= 40,000
Al 40,000




SN SR
M CRaAIf

&l: A FHHI (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
StdEu elz2 =2&H| 300,000 0 300,000

401 Al HIZL 201 300,000 0 300,000
01 Al&HI 300,000 0 300,000
OstdEw 212 =2 FH|(L=100m)
300,000,000 * 14 300,000
CEag 250,000 0 250,000
401 AlZHIZ SO 250,000 0 250,000
01 A28l 250,000 0 250,000
CR2U-HN=(E-8-3)
250,000,000& *14] 250,000
CR0E 2el 60,000 0 60,000
401 Al HIZL 01| 60,000 0 60,000
01 Al&H| 60,000 0 60,000
O=20E HEEA(MUN =d, 1=277.5Km)
60,000,000& x14] 60,000
WEAMD 2 R M (HEALY) 164,288 0 164,288
=S 82,144
Al 82,144
401 AIEHIZ SR THYI 164,288 0 164,288
== 82,144
Al 82,144
01 Al&H| 164,288 0 164,288
OuWSAD &2 2 HA
164,288,000 * 14| 164,288
= 82,144
Al 82,144
C2 ]2 3,278,941 3,350,864 AT1,923
Ne 22 273,264 143,814 129,450
101 @1A4H| 180,927 87,980 62,947
04 JIZtN2Z2 XS 150,927 87,980 62,947
OHgARA(C2E) 150,927
>llEs 2,386,780 x5E« 10 119,339
D> AXt=g 11,4203 xBA| 2E+5H 0 4,112
PAdZEsY 17,1302 x6Z 144 A1 2t 12,334
P=UASRYES 135,783,800 *4. 5% 6,111
DAHLEEZ 135,783,800 *3.545% 4,814
PEAIVNQAYEEZ 4,813,540 +12.81% 617
PNESES 135,783,800 *1.75% 2,317
DAESE S 135,783,8002 0. 9% 1,223
201 ger=3| 59,502 47,034 12,468
01 AtR2te|H] 21,962 17,256 4,706
Oz 2c|yol#dl d4+d
70,0002 * 15 *42] 4,200




EAMN: &2t
M T2
gelr E2 |2 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OM&EL F)| Xtz
44,0003 «2CH =128 1,056
O&=2 #AE+ ABF
6,000,000 * 14! 6,000
OMH=EF 2SR =4I
8,000 *15%H +23| x5 6,000
OZZAILS(L2IHOIE, HEHD S) 2l 4,706
>R S8
2,706,000 14! 2,706
DHAEED A=58Y
250,000& 2= *43] 2,000
02 2224l 37,540 29,778 7,762
ONdE] 3323 32,640
DHIAEED MRS
1,200,000& 128 14,400
DRHEE) Mot=ER3
70,0003+ 12& 840
DRHIEED FOHESH L CIHY ALER3
150,000& *12& 1,800
DME=SEZ CCIV AIZEZ
800,000& » 123 9,600
DHIAEXtE PSS E=HZ AEZ
500,000& =123 6,000
OUl=J] KAI2el 4,900
DO=EI RS 100,000 *8CH 4 3,200
>O=I|l SFUH 1,700& *1,000L 1,700
202 04d| 7,680 1,800 5,880
01 =LHO4 L] 7,680 1,800 5,880
OAE RXES HRFE0HI
640,000& =123 7,680
206 =6l 48,155 48,155
01 M=l 48,155 48,155
Oz 24X 48,155
>E0tE 19,0003 *2,300% 43,700
> O OFIN K| 49,500 *90 L 4,455
305 Hial=s 7,000 7,000
01 Hha32sS 7,000 7,000
O&Z A& &olitiaa
100,000& *70€! 7,000
S22 M4 2,037,130 1,810,410 226,720
201 L2 | 1,637,130 1,710,410 AT73,280
01 Ar22eltl 1,517,130 1,590,410 A73,280
ONEXNAE BEEE(1KE) Xz
24,206,000 *39CH 4,034
ON&E&IE §ZE(5E) Xt=
19,462,000 * 13CH 253,006




A S22t
M EREHMNA
gelr E2 |2 EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
ON&ZYE HS2(06N) LXtE
24,000, 000& %5CH 120,000
OS8s NEXYE EHEH SXig
93,5003 *107CH*20=] 200,090
02 S3=2g4l 120,000 120,000 0
ON&ZH |FU 60,000,000& *14] 60,000
ON& &l |Xl2eld]
60,000, 000& x 14! 60,000
206 =4I 200,000 100,000 100,000
01 =4l 200,000 100,000 100,000
OHMIE TH 200,000,000 *14] 200,000
401 AIEHIZ 2018 200,000 200,000
01 AlZHI 200,000 200,000
OE M&(L=125.5km) 200,000,000 %14 200,000
SHEEZZ RASS(HEAY) 200,576 200,576 0
401 AlIEHIZL 2 0HYI 200,576 200,576
01 Al=H| 200,000 200,000
OsHEEZZ RXN2H(E60H o)
200,000,000& *14] 200,000
03 AIE SR 0HHI 576 576 0
OAlI4 S THYI 576,000& *14] 576
=& RAES 200,576 200,576 0
401 AIEHIZL 2 OHLI 200,576 200,576
01 A&l 200,000 200,000
OzZ& RXNE=(28H =)
200,000,000& 14 200,000
03 Al< = THHI 576 576 0
OAI4 2THbI 576,000 *14] 576
L L SHEZZE MM (FEAY) 401,152 401,152
401 AlZHIZ 01| 401,152 401,152
01 AlZHI 400,000 400,000
O 2 sHEEZZ I S H)
400,000,000 *14 400,000
03 A& S CHYI 1,152 1,152 0
OAI& 2THbI 1,152,000& 14 1,152
2 L SHEEZZ SHAEGH(MEAIY) 100,223 100,360 A137
401 AIEHIZL 2 0HY| 100,223 100,360 A137
01 A&l 100,000 100,000 0
Oz2% € sHEZZ &A FHI(HH =)
100,000,000 x 14! 100,000
03 Al = THHI 223 360 A137
OAl& S THHI 223,000 *14] 223
=H 4™ 22,500 20,000 2,500
401 AIEHIZL S OHEI 22,500 20,000 2,500




N EZ22e|dt
M 22
gelr E2 |2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 22,500 20,000 2,500
OEHEE Os9 &1
2,250,000 1000 2 22,500
2(3)S Makzte] 23,520 23,400 120
201 Zet=3h] 21,600 21,600
01 AtR2t2|HI 21,600 21,600
O= - s8N S&E+=g
21,600,000 *14! 21,600
202 04| 1,920 1,800 120
01 SLHoIH 1,920 1,800 120
0= TR ASEE
160,000& « 12 1,920
ZERsH(E3e~8Eel) =23 20,000 0 20,000
401 AIEHIX R0 20,000 20,000
01 A28l 20,000 20,000
OzZRsd(E==e~gael) =2 FHI(L=4,000
m) 20,000,000 *14! 20,000
CZANE=E =72 1,105,832 1,206,476 100,644
C2ANEE RAES 604,680 304,100 300,580
401 Al HIZL S 0HYI 604,680 260,000 344,680
01 Al&HI 600,000 260,000 340,000
O==2AIZ= &Hl 200,000
DRIEES 4,000m %25,000& 100,000
>B A 1,000m*100,000& 100,000
Oz tNAId=E 4X & JH|
200,000,000 *14] 200,000
OkLz HXIE Hul 100,000,000 * 14| 100,000
Oz EctE &Edl 400,000 *250K 100,000
03 AIZ2THYI 4,680 0 4,680
OAlIE 2 0HbI 4,680,000 14] 4,680
wg 224 501,152 501,152 0
401 AIEHIZ SR THYI 501,152 501,152
01 Al&HI 500,000 500,000
Ooung |2+ 500,000,000& *14] 500,000
03 Al 20HHI 1,152 1,182 0
OAIZ20HbI 1,152,000& *14] 1,152
C2USAEIA X 1,201,000 1,501,000 A300,000
CRus Hesd 1,201,000 1,501,000 300,000
Rhed o 28 1,201,000 1,501,000 300,000
401 AIEHIZ SR OHYI 1,201,000 1,501,000 A300,000
01 Al&HI 1,200,000 1,500,000 A.300,000
OXtd & A4 (1L=350Km) 1,200,000,000& *14] 1,200,000
03 Al 20HHI 1,000 1,000 0




2A:

X XH -
o=

S22t
C2USAMEIA XA

Rl E2uE HosH EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
||| oag=osl 1,000,00021 14} 1,000
NEEERTE 2,161,563 1,718,344 443,219
= 40,000
Al 2,121,563
AR DA A 96,192 906, 192 50,000
AAR2AE RS 300,864 300,864 0
401 Al HI L2 H) 300,864 300,864
01 Al&H 300,000 300,000
OSBS ARRAIE SN2+
300,000,000 *14! 300,000
03 Al OHH| 864 864 0
OAIE =8| 864, 0002 +14] 864
EEEEIENED 350,864 300,864 50,000
401 Al HI L2 H) 350,864 300,864 50,000
01 Al&H 350,000 300,000 50,000
OHIENEZ SXl24
350,000,000 14! 30,000
03 Al& = CHb 864 864 0
OAIE=2TH8] 864, 0002141 864
ZRISBAY XIS 3,600 3,600
202 01t 3,600 3,600
01 ZLHOHHI 3,600 3,600
FolsEAY QRET0
300,000 122 3,600
HES A0 RS 300,864 300,864
401 Al HI L2 HH) 300,864 300,864
01 Al&H 300,000 300,000
OHIgN £D0Y RN+
300,000,000 141 300,000
03 Al = CHb| 864 864 0
OAIE=2TH8| 864, 0002 +14] 864
e 1,206,371 812,152 393,219
= 40,000
Al 1,165,371
ZRIZBOH LA (HEAIY) 823,271 412,152 411,119
401 Al HI L2 HH 823,271 412,152 411,119
01 Al&H 821,000 411,000 410,000
Otferel SeHE0E th4-2 FHl (L=170m)
50,000,000 141 50,000
OHH| 878-421K LB OIAT R4 2D|(L=326
m, B=3n) 30,000,000 141 30,000
OWE2| AHEE-5HIX L& Hi+2 HbI(L=36n)
20,000,000 %14 20,000




25 S22t
MM XHRENY
2l FRI=JAY (SH9 H2)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
OBHAlel A70X L& 02k & (1=360m,
B=3m) 72,000,000 14! 72,000
OXe| 843X 22 =2 &XI(L=1%n)
30,000,000 14 30,000
S3tel 1469422 K| L@ LES T (A=240m")
10,000,000 & * 14! 10,000
OU=el 411X L2 0tser2! THIEEH(1=300
m, B=3m) 100,000,000 * 14! 100,000
OCHerel oiatEDtE &S Z HHI(L=50m)
20,000,000 14} 20,000
OHIF2l o732 X L& ZZ=(L=100m, B=3n)
38,000,000 * 14 38,000
Oomtiel 2ESZ L& 0Ser IMRI|(L
=500m, B=3m) 45,000,000 14! 45,000
Oorse| #1222 =2 3U](L=260m, B=3m)
30,000,000 14 30,000
Ougre|l S&8Z 0tAZ IM2I((1L=290m, B=3m)
45,000,000 14 45,000
OF2el Ot2sla §l W& 2==(1=20m, B=8m)
100,000,000 14! 100,000
OAM=12l =2 &2 Bia=Ald & XI(L=100m)
35,000,000 14 35,000
Ogel 69-181X 22 232IE Z&(L=160m,
B=3m) 30,000,000 * 14 30,000
SE2| 460K L2 OIAE TAMLI|(A=700
m') 16,000,000& 14! 16,000
OL42| 615-3H A 2 0=k I AH(L=150m,
B8=3m) 50,000,000 14 50,000
O=322] 28 0+2eH2 FH|(L=80m)
100,000,000 * 14 100,000
03 Al CHYI 2,271 1,152 1,119
OAIZ 201l 2,270,520 3 *14] 2,271
OIS HOH A 80,000 400,000 320,000
& 40,000
Al 40,000
401 Al&HIZ 20| 80,000 400,000 A320,000
= 40,000
Al 40,000
01 Al&HI 80,000 400,000 A320,000
Oxlgel &gat grser2! i (L=30m)
80,000,000 * 14! 80,000
& 40,000
Al 40,000
==cl del=sd AugE MWore 302, 100 302, 100
401 AIEHIZ 2018 302, 100 302, 100
01 AlEHI 300,000 300,000




2A:

S22t

33 NEDEHeg
=Hel Fe=AY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=&el Del2& 212 Mot (L=8m, B=5m)
300,000,000 x 14 300,000
03 Al =2 0HHI 2,100 0 2,100
OAlI4 S THYI 2,100,000& %14 2,100
CAIE2HE 795,751 779,832 15,919
=2 &l 795,751 779,832 16,919
iz FgaEd ol 795,751 779,832 16,919
101 @124H| 45,549 40,987 4,562
M IRINZZENSES 45,549 40,987 4,562
OsdALAOt=FYI) 45,549
>llEs 2,386,780« 1H* 122 28,642
> oXt=E 11,4202 8AI 2H+ 1~ 11 1,005
RN DREAY
17,1303 xBAI 2t 1E+51L 6,990
>EURRAY
17,1302 +BA| 2H+1H* 162 2,193
P=RIASRY=s 38,828,000 *4. 5% 1,748
DALEEHE 38,828,000 *3.545% 1,377
PEARLESER 1,376,453 %12.81% 177
PHNESSES 38,828,000& *1.75% 680
DANESEE 38,828,0002 0. 9% 350
>ERS 2,386,780& 1 2,387
201 2= 746,362 730,49% 15,867
01 Al22t2lH] 741,762 17,840 723,922
OLFH=8 2848
5,000,000& 14 5,000
OUMEN =HHZIS HIISH 8
3,000,000 *43 12,000
O&=)| gtz 35,0003 *2CH* 122 840
OLd € HAEXE SHl A=22EY
692,852,000& x14] 692,852
O#A CHCIzEC
86,3033 x 122 +32 x 103 31,070
02 S3=gHl 4,600 712,655 A708,055
OoL¥HEsE 55R=
4,600,000 * 14 4,600
202 04| 3,840 3,840
01 SLHoIH 3,840 3,840
OJt=2 84l g2=80i|
320,000& * 122 3,840
E=ENY I 4,754,977 3,994,461 760,516
C2XFE 72 4,794,977 3,994,461 760,516
C2XY RANES 3,752,977 3,448,461 304,516
201 2= 2,253,664 1,997,002 256,662




A E22e|t
M TRESONM
gelr 22X FX2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 38,520 36,738 1,782
OJt2S &JI8H| A E8E =5
80,0002 *3757H 2 30,000
OMTF=2tE2 HE dJ|&H| &2 U
= 165,000& #2432 3,960
O&A HEME FY 100,0002+3& 300
OJISxele 30| Xtz
42,0003 * 122 504
OJIsHelgt SJEEI| exz
33,0002+ 122 3%
OJI2s SUIAAIAE AIZEH SX=z
280,000 * 122 3,360
2 352484l 2,215,144 1,960,264 254,880
Okzxd &g 2,196,960
DIIZS - ZEEY &dJlg
6,800 %15,000CH* 12& 1,224,000
PEOS &z
5,000& 11,6800 = 12& 700,800
PEES W= 7,000& %3, 2400~ 12 272,160
OJt=2s gge 88)| Stz
1,300,000+ 12& 15,600
OJIsHelet stHE MEZ
96,0003 20+ 122 2,304
O&JIHEE 2] 70,0002 44 280
202 04l 4,800 4,800
01 2LHoIH 4,800 4,800
Okz2xg KN RFA0OYI
400,000 12& 4,800
206 MH=H| 261,000 223,650 37,350
01 M=4l 261,000 223,650 37,350
O2xd |XNEZ== XM 261,000
PIt2S Moig 5,000,000 1574 75,000
>ot2s 88| 2,500,000 1074 25,000
>EetS 8| 180,000 *200H 36,000
>>LEDS 1= (150W) 650,00024*1000H 65,000
>LEDS J 1 (50W) 300,000 100K 30,000
>EotS 2 100,000 *300HK 30,000
401 Al HIZL 201 1,233,513 1,223,009 10,504
01 Al&HI 1,232,096 1,221,592 10,504
OFAE SIS 652,896
>ItlZ2S 500,0002%13,0005+5/100 325,000
>EotS 300,000 %11,6805+5/100 175,200
>3ES 300,0002+3,2405+9/100 87,480
>otolEelEs 2,200,0008+20S 44,000




A E22e|t
HEH: T2 XM

gelr 22X FX2el EER=E)
SA - ZE - B2(30) - HRAS of v e HIDE2
SEETRNTE=
1,300,000 *1365+12/100 21,216
O=2xY 22AMAE RAE+
600,000& * 122 7,200
OkE2xY gsHEE RIEs
20,0002 %22, 00071 *5% 22,000
OJ}2S ®IILH HHAS LHEAE 2
- 500,0002 *1007H 2 50,000
OREY BEoE =& e (SXH)
500,000,000 *14] 500,000
03 Al 20HHI 1,417 1,417 0
OAIZ20HHI 1,417,000& x14] 1,417
WSAHD IE IS 57 20,000 20,000
401 Al HIZL 2018 20,000 20,000
01 Al&H| 20,000 20,000
OLEAD TtE RS SF(4MA)
5,000,000 *47H 2= 20,000
c2xY 4X 982,000 526,000 456,000
401 Al HIZ S 0HbI 982,000 526,000 456,000
01 AlZ2H| 980,000 524,000 456,000
OI2SH Wi gauA oS aF|
2,000,000 *300CH 600,000
O28 FoHX|e Hots &
1,200,000 1707H 204,000
SREEEHZ(HIRIAE 2&) Jtzs 4
Xl 5,500, 0002 327K 176,000
03 AlESTHYI 2,000 2,000 0
OAl4 = THYI 2,000,000 *14] 2,000
NEH NE 843t 2,451,176 1,353,408 1,097,768
AEA 0l 435t 2,451,176 1,353,408 1,007,768
AEH =2 -3t 4,000 4,480 2480
201 Let=Ehl 4,000 4,000
01 AtR2t2lHI 4,000 4,000
ORHHRNEN =HIE Stz
4,000,000 * 14 4,000
AEH 2N 29 7,000 7,000 0
301 2= 7,000 7,000
11 AALEEIXIE S 7,000 7,000
Octd2du= ML}t AHIX
20,0002 x5 *702] 7,000
A& OlE2&-3et JEt = 9,000 10,200 1,200
206 M=l 9,000 9,000 0
01 MZH| 9,000 9,000 0
OXEN 220lS+2 22F
750,000 %122 9,000




2N CREUD
M HEH WS 2dat
Selr XA 018 #4535t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NEH OIEAE EX1 & EH 301,008 361,008 /50,000
401 Al HIZL 201 301,008 361,008 250,000
01 Al&HI 300,000 350,000 /50,000
OXNENER RIES
300,000,000 * 14 300,000
03 AIESTHYI 1,008 1,008 0
OAl4 S THHI 1,008,000 *14] 1,008
HIINEH B 27,000 30,000 23,000
402 2I2E X201 & 27,000 30,000 23,000
01 QI XH2AILE R (KM THE) 27,000 30,000 23,000
OHIINEN 25 300,0002*90CH 27,000
ANMEHEZ =5 1,803,168 1,803,168
401 Al HIZ 2018 1,803,168 1,803,168
01 Al&H| 1,800,000 1,800,000
OF&W~x=40 MHEAEZ HXI(L=1.6km)
1,800,000,000& » 14 1,800,000
03 AlESTHYI 3,168 0 3,168
OAl& Yl 3,168,000& 14] 3,168
AT SUMA(HANER &5) 300,000 0 300,000
401 Al HIZL 201 300,000 300,000
01 Al&H| 300,000 300,000
OYFH ZUHHA JENEZ 25(L=8.5km)
300,000,000 x 14 300,000
dF2LIH(=22en) 205,162 195,850 9,312
olEgl(=22ell) 142,352 135,740 6,612
olERHH|(C22te|nt) 142,352 135,740 6.612
101 e124d| 142,352 135,740 6.612
01 2= 95,080 90,153 4,927
OAlRAZ 2+
11,3192 x282*300A 2+ 95,080
02 JIEtAE = 3,339 3,339 0
OAlZtl2R 4y
11,1302« 18 x300A[ 2t 3,339
03 SR (RIH )22+ 43,933 42,248 1,685
oY=z 43,933
PRUIHMRA(CZHES R, FEX)
17,8083 x 12 %2404 2+ 4,274
DEAMRA (2RI 2)
18,3603 x6 2 x240A[ 2t 26,439
DEALRAOIZ, BAE JISH)
18,3602 x2& *240A[ 2t 8,813
DEAMRI(-HHK22R)
18,3603 » 12 *x240A| 2+ 4,407
Jl2dul(E=z 22l 62,810 60,110 2,700




od
i’
oF
uJ

-

KIO

Hlw

2,700

2,700
2,700

MEE
Ofl &k2h

60,110
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